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Proof to find the Genya formed by regular pentagon

and the circle
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The area 5hou 172 1n diameter 1s 1shaku circumference 3shaku 1sun
4bu 1r1 6mou.

And divide 3shaku 1sun 4bu 1r1 6mou divide by 5 gives the arc 6sun
2bu 8r1 6mou.

Find the cord.

And find the 5sun 8bu 7r1 Tmou 26ya 9bu 5r1 4mou 7shi.
Subtract the 9bu 5r1 4mou 7shi from a circle of a 5sun gives
4sun0453.

Then multiply 4sun 0453 by cord 5sun 8bu 7r1 7mou 26.

In addition, 1t divide by 2. Then 1t became 11bu 8bu 8764.
It multiply by 5 gives 59bu438.

Replace this with Jitsu.

The square of the cord 1s 34bub54421964.

Subtract Jitsu from 34bub4421964 gives 1bu72064.

Cut off 64 of the number.

This 1s the end of the proof.

This 1s a formula to proof the 719hou.

By a modernized version,

Isun=1 ., radius=5 ., arrow=0.9547 . chord=5.87726

First, subtract arrow from radius and find the length from the central point to regular
pentagon

5-0.9547=4.0453

Next, multiply this length by the length of the chord and divide it by two.
Namely 4.0453X5.87726+2=11.877639---

11.88764-- rounded off to five decimal places is 11.88764

Multiply this length by five.

11.88764 X 5=59.4382

This i1s JItsu.

Next, square the length of the chord

5.877262=34.5421851076

But original says 34.54421964
(So we follow the original)

And divide Jitsu by this,
59.4382-+34.54421964=1.7206409818901904

Because the original says 1.72064, omit the figures 64.

QED
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We used big number so it is difficult to understand.
| think we can change this sentence easy by rewriting the number.

So we struggled to translate for a figure units and mathematical terms.
Because we used “
proof.
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